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Activity Two: The Distribution Of Wealth

Individual Report
Question: Which economic system (capitalism, socialism, communism, or utopianism)
would you have preferred if you had lives during the time of the Industrial Revolution?
Why? Which economic system (capitalism, socialism, communism, or utopianism) do you

prefer today? Why? Is the distribution of wealth a problem, progress, or a promise?

1. Response clearly states which economic system you would have preferred if you had
lived during the time of the Industrial Revolution

2. Response includes as least three reasons why that economic system would have been
best during the Industrial Revolution.

3. Response clearly states which economic system you prefer today.

4.  Response includes at least three reasons why that economic system is best today.

5. Response addresses whether the distribution of wealth is a problem, progress, or a
promise.
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